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3. What is the Lagrange’s auxiliary equation for
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d) None of these

4. What is the general solution of the given paftial differential equation?
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What is the particular integral of the given equs
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d) None of these

What is the order of the given equation”
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_then Wien's 372;?.5&: Law states

a) That the wave 2|ength of thermal radiatiQns increases
47 That the wave ﬁsﬁ: of thermal radiati@mns
~), That the wave Jermal radiatiQns rematns

=

d) None of the ,.%:?

If the temperature increases
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gth of tl the same

uncertainty priggiple,
in any state
in a stationary state

| 1. According t0 Heisenberg's
inside the nuclpus

7) An electron can reside |
e the nuclels

b) An electron can reside insid

ﬁ\.kn electron cannol reside inside the nucleus

d) None of the above

12. If we plot the log of power radiated by thefblack body versus t
slope of the line should be
a)iie
b) Infinite

¢) Not defined

V-

1 3—Fhe thermodynarmiic probability ( (Q)) is related to entropy (S
(K is Boltzmann Constant)
o S5=KinQ
by Q=KInS
¢) K=ShQ
d) K=QlIn
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f lubrication under conditions of sl
Im or rv,aan.avﬂmawc lubrication
or boundary lubrication

The type ©
a) Thick fi
\ Thin film
¢) High-pressure lubrication
d) All the above

»4. The type of lubricant used under the conditions 0

a

3 a) Liquid lubricants
b) Semi-solid lubricants

._ £ Solid lubricants
d) All the above

Which ol
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Squarc threads a
u.\vc.p or transmission
b) Clamping devices

¢) Easy operation of engagement gng dis
d) Fastening purpose
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57, If the surface contours are t
a) Auxiliary view for each surfacgts drawn single or do
b) Auxiliary view I8 drawn on siggle view
& Thetop v icw is omitted and afXiliany V1

yd cannot oc d) Auxiliary view for each surfagean be drawn separately

5§, Crane hook is drawn by which offfe following method.
a) Full sccuon
b) Half secuon
¢) Removed section
o Revolved section

29. The section W hich cuts the object at an angle is called
a) Removed secton

b) Broken out section
E\.»cx:_u&_ section
d) Assembly section
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To take axial load d) N
40. Three
WO
Sl ! a) 3
33. Resistivity of a wire depends on by
a) Length . .
4 Material d) 4
c) Cross section area
d) None of the above 41. Whe
: = ; . a) (
34. Kirchhoff's voltage law is based on law"oftonservation of 2«
a) Charge- c)
e~ Energy d)
¢) Momentum
d) None 42. Ant
a)]
35. Two bulbs marked 200 watt-250 volts and 100 watt-250 volts are joined in series to 250 b) ]
volts supply. Power consumed in circuit s o
d)
a) 33 watt
B 67 watt 43. The
c) 100 watt cor
d) 300 watt— a)
)
36. We have three resistances of values 2 .3 and 6 Q. Which of the following combination c)
will give an effective resistance of 4 7 : d)
a) All the three resistances in parallel 4
b¥ 2 Q resistance in series with parallel combination of 3 Q and 6 resistance a)
¢) 3 Q2 resistance in series with parallel combination of 2 Q and 6 O resistance by
d) 6 Q resistance in series with parallel combination of 2 Q and 3 O resistance c)
d)

37. The ratio of the resistance of a |00 W, 220 V lamp to that of a 100 W, 110 V lamp will be
nearly

4 4 |
b) 2

gy 142
d) 1/4

38. The peak value of a sine wave ;
a) 1274V

1414V

c) 100V
d) 200V -

$200 V. Its RMS value is




. - . & given as
w The phase difference between voltage and current wave through @ gireuit element is BIVELT

10", The essential condition s that

 Both waves must have same {[requency

b) Both waves must have identical peak values

¢) Both waves must have zero value at the same time

d) None of the above
\ ' " Y , Wwetween an’
40, Three 3 ohm resistors are connected to form a triangle, What 18 the resistance DETW! \ any

rwo of the corners?
a) 34 ohms

by 3 ohms

# 2 ohms

d) 4/3 ohms

41. When a pure semiconductor is heated, its resistance .......oorre
a) Goes up

2 Goes down

¢) Remains the same
d) Can't say

42. An n-type semiconductor b
a) Positively charged

b) Negatively chargeds

¢» Electrically neutral

d) None of the above
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43. The phase difference between the infit and output voltages of a transistor conne
common emitter arrangement i ... 25
a) 0°

by 180°

nation _ ) oooo
, ” d) 270

S

tea

rain
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44. A crystal diode has forward Rm__ﬂmon of the order of ...ooovieens

X
b=
WW

¢) M
d) None of the above

45. A zener diode is used as ..oooeeiee
a) An amplifier ’

47 A voltage regulator

g) A rectifier :

d) A multivibrator

e

46. The collector of @ transistor is ....ooveee: doped

~a) Heavily

¥ Moderately

¢) Lightly

d) None of the above
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, — 100.2 mA. Th
’ 47, In a transiston Ic=100 mA and Ig 1002
; a) 100
b) 50
c) about 1
& 200
48. The relation between B e B S
a) p=10-2)
b) p=( _a)/a
o p=all=0)
d) p=oa/l +a)

49. The language of zeroes and ones is known as

@w Machine language -
b) Assembly language
¢) Pseudo language
d) Foreign language

Q50. SCSI stands for
a) Serial computer system i
b) Synchronous computer system intefface
stem interface

nterface

¢) Server computer sy
d). Small computer system interface

presénts the decision condition in @ flowchart?

51. Which of the following symbols re
a) Ellipse
b) Rectangle
¢y Diamond
d) Arrow

" A collection of four bits is termed as a
a) Word

b) Byte -

&y Nibble”

d) Tupple

n
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53.Google docs is a class of
a) System software
_br Application Softwage
¢) Malware
d) Firmware

54 Which of the following cannot be a variable name in C language?
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57. A copper bar is fixed at b 5
: I at both ends. If t} _
. ) ends. If the bar is heated, then the stress developed in the bar

will be

A Compressive axial stress

b) Tensile axial stress
¢) Shear stress
d) Zero

]

>
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Ntraan

a) Upper Yield Point
b) Lower Yield Point

) Ultimate stresse==>*"

upture point

59, A steel bar of 30 mm x 30 mm square cross-section is subjected to an axial tensile load ot
350 kN. If the length of the baris 2.5 mand E = 250 GPa. the elongation of the bar will be

& 39 mm

o

b) 3.7 mm

1 VwTwmﬁB
d)

-

3.3 mm

60. Poisson’s ratio is the ratio of i
a) Longitudinal strain to transverse strain
b} Shear strain to longitudinal strain <
or Lateral strain to longitudinal strain
d) - Transverse strain to shear strain




